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EGE1| 386Hf 40B {1 22Bify 448 B i1 26Ei {1 5E {1 5Ef 517/ 1,034/ 1,551 600
B E2| 442841 40813 228y 504 B 61 30541 6B 6 584 1,167M 1,750 600/
E/riE3| 500E{L 40B 6L 22BAGL 562841 33HML TEAL BEAL 6509 1,299 1,948 600M
EviE4| 557HL 40B 6L 22BAGL 6198841 3THML TEAL TEAL 716/M 1,431 2,147 600/
ENE5| 614Hf 40B {1 22Bify 6768 { 408 fi GE L] TH L 781H 1,562 2,343M 600
SM6E4R 1 HO oD H AR E KB NN E{E 10.68M * ($1) 1 B &=V HAHE
EriE1| 388E: 408831 22834 4508 {1 27HfT 5B 5 521/ 1,041H 1,561M 600M
B2 444Bf 4084131 22834 506 B i 308441 6 LA 6L {3 586 1,171M 1,756 600M
ENE3| 502H 1 40EE i 22B i 564 B {s 3BELL TH{L 6HifiL 652 1,303 1,955 600
B 4| 5608 4088131 22834 622 B i1 3THfL THAL TEE 719M 1,438M 2,157M 600M
ENES| 6178 40EEfif 22B ] 679851 4083 8HA{T THGL 784 1,568 2,352 600
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EEE1| 581HfL 40B 6L 22BAG 64341 38HML 8EAfL TEAL 7448 1,487H 2,230M 600/
ENGE2| 686 40B {1 22Bify T48E fi 44Ei 9EA{i 8EAfY 864M 1,728M 2,592 600M
ENEES| 792 40B 6L 22BAGT 854 BA {1 508 fi 10B {31 9BfL 986M 1,972 2,958 600M
ENE4| 897HIL 40E {1 22Bify 959 i fi 57Hi {1 128443 1B 1,110/ 2,220/ 3,329 600M
E/#5| 1,0038 | 40E 4 22BAf | 1,065EifE | 63Eif: 1384 {i 12841 1,232/ 2,463 3,695 600M
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EriE1| 584E(: 4088131 22834 646 B i 38HAfT 8ELfI TEE 747H 1,493M 2,240 600M
ENE2| 689H (I 40EE i 22B ] 751 B4 44Bi 9BAfiT 8EIfiL 868M 1,735 2,602 600
ENES| 796H 40EE i 22B ] 858 B {i1 51EfL 10845 9B i 992M 1,983 2,974H 600
ENEA| 01HM 40E {1 22Eif 963 Hifi 57Ef 1284 1B 1,114/ 2,228 3,342 600F
ESr#5| 1,008HfL | 40EfL 22Bf | 10708 | 63HifL 13BAfi 1284 1,237 2,474 3711M 600F
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EGE1| 6558 40B {1 22Bify T17H L 428ify 9B { 8Ef 829 1,658 2,487M 600
B E2| T713EL 40813 228y 835B L 49BfL T0B 6L 9B 965 1,929 2,894 600/
ENE3| 896H 40E {1 22Bify 958 B fi 57Ei {1 1B 1B 1,108 2,215M 3,323 600
E4| 10188 | 40E 4 22Bif | 1,080Bif | 64Hif: 1384 {i 12841 1,249 2,497M 3,746M 600
EE5| 11428 | 0B 22Bif | 1204Bfr | 71Hif: 1483 13B 4L 1,391/ 2,781H 4,172M 600
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Er#1| 658E I 408831 22834 720 B 651 42861 9BLf 8HEif 832 1,664M 2,496M 600M
ENE2| TTTHEfAL 40T 22BT 839 HAfiT 508 {i 108431 9BfL 970 1,940 2,910M 600
EE3| 900Ef: 40E {1 22Eif 9628 fi; 57Ef 1284 (i 1B 1,113 2,226 3,339M 600F
Er4| 102386 | 40Ef 22BAfT | 1,085HAf | 64Hif 1384 1284 1,254/ 2,508M 3,762M 600F
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BRI SME(I) = (F)76EH/R
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SHE6EIAST1HETOFANSE MBI LY EE 10.68M 1/ B EEEH
s | BAY—CR | EBBMEER |v—crmmnn|  BEF mew | nEmAms | NEMASEE | NEBEAE | poene | posEs | goams
e W | LmE wach | wEmE | SHEEH | Gaggl)) | msxEs ama | am (2#1) (3%1) i
?%g 1% 1,672B4 (5 225B8 431 88EA{iL BEEL 1,985BA i1 117E L 24 B8 {51 22B4 451 2,294 4588H 6,882
600 X I*_E'@
EXED 3,428 Bifsf 225B8 {31 176 Bifst HEEL 3,829 B {sf 226 {31 46 BifL 42Bif1 4.425M 8,850M 13,275
SHI6E4H1 85D FI AR S MIBMAf-YDEE 10.68M Y15 A EZEH
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it so0F x P
EXED 3,621 Bifsf 176 Bifst HEEL 3,797 Bifsf 224 B8 {51 46 BifL 42Bif1 4,389M 8,777H 13,166
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